

BID OPENING 2/5/2021 PRICE SCHEDULE OPENING

ITB No. 20-101322
ITB Name: Traffic Calming Maintenance (Three Year Multiyear Contract)

				International Design Services, Inc. dba IDS Global		HEH Paving, Inc.		DAF Concrete, Inc.	
Item No.	Item Description	Estimated Number of Units	Unit of Measure	Unit Price	Total Amont	Unit Price	Total Amount	Unit Price	Total Amount
1	Install Asphalt Speed Tables (Humps)	100	EA	\$12,000.00	\$1,200,000.00	\$5,375.70	\$537,570.00	\$2,500.00	\$250,000.00
2	Remove Asphalt Speed Tables (Humps)	100	EA	\$3,000.00	\$300,000.00	\$2,455.20	\$245,520.00	\$500.00	\$50,000.00
3	Remove and Install Asphalt Speed Tables (Humps)	100	EA	\$14,000.00	\$1,400,000.00	\$7,830.90	\$783,090.00	\$3,000.00	\$300,000.00
4	Remove Traffic Islands	60	EA	\$1,800.00	\$108,000.00	\$8,250.00	\$495,000.00	\$1,000.00	\$60,000.00
5	Concrete Header Curb, 6-inch, TP2	300	LF	\$20.00	\$6,000.00	\$44.85	\$13,455.00	\$18.00	\$5,400.00
6	Concrete Curb and Gutter, 6-inch x 24-inch; Modified with 24-inch Back of Curb, Mountable (See Drawing)	1500	LF	\$22.00	\$33,000.00	\$46.09	\$69,135.00	\$20.00	\$30,000.00
7	Concrete Header Curb, 6-inch, TP7	1000	LF	\$32.00	\$32,000.00	\$42.50	\$452,500.00	\$18.00	\$18,000.00
8	Class B Concrete, Base or Pavement Widening	300	CY	\$480.00	\$144,000.00	\$419.76	\$125,928.00	\$200.00	\$60,000.00
9	Adjust Granite Curb to Grade	3000	LF	\$50.00	\$150,000.00	\$63.69	\$191,070.00	\$15.00	\$45,000.00
10	Remove Sign	30	EA	\$200.00	\$6,000.00	\$99.00	\$2,970.00	\$100.00	\$3,000.00
11	Galvanized Steel Post TP7	2000	LF	\$10.00	\$20,000.00	\$11.22	\$22,440.00	\$18.00	\$36,000.00



12	Highway Signs TP1 Materials; Reflector Sheeting TP3	2000	LF	\$18.50	\$37,000.00	\$25.08	\$50,160.00	\$10.00	\$20,000.00
13	Thermoplastic Solid Traffic Stripe, 5-inch, White	1000	LF	\$5	\$5,000.00	\$1.39	\$1,390.00	\$5	\$5,000.00
14	Thermoplastic Solid Traffic Stripe, 5-inch, Yellow	1500	LF	\$5	\$7,500.00	\$1.39	\$1,390.00	\$5	\$7,500.00
15	Thermoplastic Traffic Striping, White	1000	SY	\$12	\$12,500.00	\$6.30	\$6,300.00	\$5	\$5,000.00
16	Thermoplastic Traffic Striping, Yellow	1000	SY	\$12.50	\$12,500.00	\$6.30	\$6,300.00	\$5	\$5,000.00
17	Highway Signs Reflective Sheeting TP9	750	SY	\$30.00	\$22,500.00	\$279.18	\$29,355.00	\$15	\$11,250.00
18	Solid Traffic Stripe, 5-inch, White	2	LM	\$800	\$1,600.00	\$1,742.40	\$3,484.80	\$1,800.00	\$3,600.00
19	Skip Traffic Stripe, 5-inch, White	2	GLM	\$800	\$1,600.00	\$1,742.40	\$3,484.80	\$1,800.00	\$3,600.00
20	Thermoplastic Solid Traffic Stripe, 5-inch, White	10	LM	\$4,400	\$44,000.00	\$6,816.00	\$68,160.00	\$1,000.00	\$10,000.00
21	Thermoplastic Solid Traffic Stripe, 5-inch, Yellow	10	LM	\$4,400	\$44,000.00	\$6,816.00	\$68,160.00	\$1,000.00	\$10,000.00
22	Thermoplastic Skip Traffic Stripe, 5-inch, Yellow	10	GLM	\$3,000	\$30,000.00	\$5,100.48	\$51,004.80	\$1,000.00	\$10,000.00
23	Thermoplastic Skip Traffic Stripe, 5-inch, Yellow	5	EA	\$3,000	\$15,000.00	\$5,100.48	\$51,004.80	\$2,100.00	\$10,500.00
24	Thermoplastic Pavement Marking, Arrow TP	1	EA	\$500.00	\$500.00	\$151.80	\$151.80	\$250.00	\$250
25	Thermoplastic Pavement Marking, Arrow TP2	1	EA	\$500.00	\$500.00	\$165.60	\$165.60	\$250	\$250
26	Thermoplastic Pavement Marking Symbol	1	EA	\$1,000.00	\$1,000.00	\$345.00	\$345.00	\$250	\$250



BID OPENING 2/5/2021 PRICE SCHEDULE OPENING

27	Thermoplastic Marking Symbol, TP1	1	EA	\$1,000.00	\$1,000.00	\$303.60	\$303.60	\$250	\$250
28	Thermoplastic Pavement Marking Word, TP1	1	EA	\$500.00	\$500.00	\$345.00	\$345.00	\$250	\$250
BIDDER ENTER TOTAL COST FOR LINE ITEMS 1-28			\$3,63	5,700	\$3,35	5,405.80	\$960	,100.00	

LABOR AND MATERIALS RATES FOR ADDITIONAL WORK NOT SPECIFICALLY LISTED IN ABOVE (SEE SECTION B.12.)

ITEM NO.	ITEM DESCRIPTION	UNIT OF MEASURE	UNIT PRICE	UNIT OF MEASURE	UNIT PRICE	UNIT OF MEASURE	UNIT PRICE
	Regular time rate; Bidder state regular time hours/days worked by firm *Monday-Friday 8am-5pm (DAF Concrete)	Hour	\$200	Hour	\$308 Labor Only	Hour	\$25.00
30	Overtime labor rate, if different	Hour	\$300	Hour	\$462.00	Hour	\$40.00
31	Materials cost mark-up percent above list p	135%	10%		10%		
Number of Bids Received:			3				
LSBE Participation Benchmark/GFE			GFE	20%		100%	
Attendance at the Mandatory LSBE Meeting (Yes/No)			Yes	Yes		Yes	
Separate Seal	led Price Schedule (Yes/No)		Yes		Yes	Yes	

NOTES - DETAIL JUSTIFICATION

*DAF Concrete Inc. was the only bidder who provided a response for Line Item No. 29, Regular time rate. All other bidders left this line blank.



BID OPENING 2/5/2021 PRICE SCHEDULE OPENING

Witness Signature: jm

Agent Signature:

Angel Frazier

CC

Signature: Judi Moore

Email: jmoore@dekalbcountyga.gov

Signature: Crystal Creekmore

Email: ccreekmore@dekalbcountyga.gov